Part Number Part Name(CN) Part Name(EN) Remark Picture

CHASINGM2_V1.0_F .

9A.10.100.0287 . (97.68Wh) M2 ROV (with 97wh | 1o 25 with 97wh battery
battery)
M2 ROV

CHASINGM2_V1.0_ . .

9A.10.100.0288 — - M2 with no batter M2ROV, without batte
L Y i

9A.10.100.0243 M24hE | (64G) 64G SD card for M2/Minis
9A.10.100.0253 M2ARSEAT 4L M2 LED light 1 LED light for M2/M2PRO
9A.10.100.0085 M2 75 4 2 M2 left motor M2 'esftcgafs rt'o"‘]ii':ri‘tthree
9A.10.100.0086 M2 e 58 M2 right motor M2 right motor, with three




9A.10.100.0068

M2 ECiE

M2 propeller kit

for M2/M2PRO
one left&one right propeller
with three screws to fix it

9A.10.100.0132

M2_PRO_MAXH ith ity 4

97wh&300wh battery

97wh&300wh battery clamp

B clamp
9A10.100.0134 | 200whebiizip iz 4lsr | 200wh battery clamp | 200 WR 2?;;‘:3’ locking
9A.10.100.0254 e pL 2 M2 middle frame m'dd'e,\;rz‘a;“;gm M2/
. o front&rear brackets, with
9A.10.100.0079 M2 o i Ja S 48 screws
9A.10.100.0082 | M2iZFHIiF (FELED) with no logo




9A.10.100.0083

FHIHTF (£EICHASING

logo: CHASING M2

supporting rod for M2, with

9A.10.100.0084 M2 A 7 FE4F M2 supporting rod screws(8 pcs of M3*8 and
8pcs of M3*14
for M2/M2PRO/Minis SD
9A.10.100.0255 SD-E&+H SD card slot cover card slot

9A.10.100.0328

SD-R &R

new SD card slot cover

SD card slot cover with
notch, for MAX, can also
be used on M2/M2Pro/Minis

protective cap for

9A.10.100.0256 M24& RS [ P2 sensor module for M2/M2PRO
water-proof protective plug
. for robot arm port/ tether
9A.10.100.0269 VUbkFkgsLaipe | Protective plug forrobot | o ot MiniiMinis/M2/

arm port

M2Pro




M2

9A.10.100.0239

RGP E

rubber cap

dust-proof rubber cap for
the the tether port(M2/
M2PRO/MINI/MINIS)

9A.10.100.0150

M2 H R s _#e

M2 charger kit for JP

FRHEMRE, SELS, B
FL#S 2% J #5348 M2 charger
kit for JP, with the
charger&adapter cable/
connector cable

9A.10.100.0148

M23ER e as £

M2 charger kit for US

THGRE, SERS, &
BLARER S 4 4kM2 charger
kit for US, with the
charger&adapter cable/
connector cable

9A.10.100.0149

M2RRRL e LB

M2 charger kit for EU

charger kit for EU, with the
charger&adapter cable/
connector cable

9A.10.100.0146

M2 e L e

M2 charger kit for AU

charger kit for AU, with the
charger&adapter cable/
connector cable

9A.10.100.0124

M2JERL e s _F

M2 charger kit for UK

M2 charger kit for UK, with
the charger&adapter cable/
connector cable




9A.10.100.0147

M2E bR e _E

M2 charger kit for CN

M2 charger kit for CN, with
the charger&adapter cable/
connector cable

9A.10.100.0284

M2IE LSBT (EhRL)

M2 charger kit for KR

M2 charger kit for KR, with
the charger&adapter cable/
connector cable

9A.10.100.0273

B AL 2 HAL)

Adapter cable (JP)

JP,M2/M2PRO/MINI/MINIS/
MAX/E-REEL

9A.10.100.0274

TR AL (3

Adapter cable (US)

US,M2/M2PRO/MINI/
MINIS/MAX/E-REEL

9A.10.100.0275

AL (R

Adapter cable (EU)

for EU/KR,M2/M2PRO/
MINI/MINIS/MAX/E-REEL

9A.10.100.0276

TE R A2 (AL

Adapter cable (AU)

AU,M2/M2PRO/MINI/
MINIS/MAX/E-REEL

&)




UK,M2/M2PRO/MINI/

9A.10.100.0277 JE AR (TEH) Adapter cable (UK) MINIS/MAX/E-REEL
NPT CN,M2/M2PRO/MINI/
9A.10.100.0278 ERARL(ERR) Adapter cable (CN) MINIS/MAX/E-REEL
. . 3 in 1 connector cable for
9A.10.100.0257 TR 3in 1 connector cable M2/M2Pro
25.2V/3A charger only,with
9A.10.100.0258 M2ERZHEER M2 charger no adapter or connector
cable
30.81.100.0238 M2E ST car charger 25.2V/2.2A
N . with no tether, for M2/
9A.10.100.0293 Leskdn winder M2Pro/Mini/Minis




9A.10.100.0259

FhEEEG (BR)

for Mini/Minis/M2/M2
PROJE-reel(not for MAX)

9A.10.100.0291

M2 11 4:45(100k)

100m tether

with no winder, for M2/Mini/

Minis
OA10.100.0202 | M2iJiE4H(200%) 200m tether Vbbbl
9A.10.100.0307 £l towel towel for M2/M2PRO/Minif
45.20.100.0024 EPPF44i EPP suitcase 43;:;’ f206r*l<f/IsZG
9A.10.100.0294 GoPro%Zz3 s GoPro mounting base GoPro mgm;g‘gob ass for
45.10.100.0026 TR M2 transportation box for M2 ONLY




9A.10.100.0161 M2 AL M2 main cabin *
9A.10.100.0379 M2l () M2 lens module for an/Mn:\ﬂ%Z/MZPRO/ *
M2 B =L 204308 | 3-pin connector module
9A.10.100.0260 () for motor for M2/M2PRO motors
M2t L 24475 | 4-pin connector module .
9A.10.100.0261 () for LED light for M2/M2PRO LED lights ”
o
o - | 4-pin socket connector
R SL A A4
9A.10.100.0262 M2 F-BE AL A48 module for robot arm for leszRr(t) robot arm
(EE) port po
9A.10.100.0263

M2 )& as et (B)E)

M2/M2PRO sensor module




M2 Main Cabin

9A.10.100.0327

SD-RZE A B

MAX SD card mount
module(with no card or
cover)

9A.10.100.0264

M2_SD-Zeedift (i
WEER)

with no SD card or cover,
for M2/M2 PRO/PRO MAX

9A.10.100.0265

M2_SD-R2236 2

SD card mount base (with
cover but no SD card)

SD card mount base

with 64G SD card&cover

(64G) (with 64G card& cover)
for M2(sent befor June,
(M2 202146 § 2 #fELf | AC tether socket 2021): with this kit, the
40.30.400.0030 HLZACH 1 712 ) connector kit rov(with 200wh battery) can

support AC power supply
system

9A.10.100.0267

M2EHLEESLAL: BT

new M2 tether socket
connector

9A.10.100.0268

M2 HIRE 3y 74 2L/
i

tether socket connector on
the main cabin, for M2(sent
after June, 2021)/M2PRO

power socket connector on
the main cabin,
for M2/M2PRO




9A.10.100.0269

PUBR T L A A

protective plug for robot
arm port

for M2/M2PRO/MINIS

9A.10.100.0245

M2 i PCBA/E 5

M2 ESC board

for M2/M2PRO/MAX

9A.10.100.0369

M2H it V2.1PCBA/
J&

M2 Electric control
board

for M2/M2PRO/MAX

9A.10.100.0286

35591% U B B Sk A
B

including core board&built-
in system card& lens
module, for Mini/Minis/M2/
M2Pro
(please mark the model
you need when you place

an order)
9A.10.100.0362 M2 TR PCBA/E G M2 LED board LED board for M2/M2PRO |
9A.10.100.0270 I THES FPC cable for throttle for M2/M2PRO/MAX

10




9A.10.100.0271

F AR I T4

ribbon cable for electric

control board/ESC board

for M2/M2PRO/MAX

ribbon cable for LED board

9A.10.100.0272 IR T4k for M2/M2PRO/MAX
for Mini/Minis/M2/M2 PRO/
9A.10.100.0378 B LFPCHES/ )5 lens FPC cable PRO MAX
500M PLC modem, with

" cooling fin& insulated

9A.10.100.0067 M2EE A& column;for M2/M2PRO/
RC3/MAX
- N power connector on the power connector on the - N
9A.10.100.0266 M23f; Sy L2l 1 battery(97wh) battery M23f; Jridisk
9A.10.100.0131 M2t (97WH) 97wh Battery pack 21.6V 5A
97WH R ith ity 2 L BAT4H | positioning rod for 97wh .

9A.10.100.0028 o) battery with screws

11




97wh&200wh
Battery

9A.10.100.0007

RARRI PR (5

battery pull ring

for M2/M2PRO/MAX

for 200wh battery

J&)
200WhHL it 3l 7k
9A.10.100.0133
Ak (ERF)
200WH Hjth ity 2 Phi AT
9A.10.100.0029
A (EE)

positioning rod for 200
wh battery

for 200wh battery

9A.10.100.0132

M2_PRO_MAXH, it
B

97wh&300wh battery
clamp

97wh&300wh battery clamp

9A.10.100.0134

200wh HL it BB R 2L A

200wh battery clamp

200 wh battery locking
clamp

M2 At

(2558

parte de
cuerpo

parte de cuerpo

12




tornillo([& & | tornillo([& E#t
T AT | MEARSN R, RSN, — A
M4X35 — MR TR | A TR 2PN IR
P15 22) 22)
M2 £ i A4
A L. parte ]
YIS (& posterior parte posterior
N ERFE )
M2 A
1R (G de})aarftt:ra Parte delantera
B k)

13




